STEM AND LEAF DIAGRAMS - PRACTICE QUESTIONS

1.
The stem and leaf diagram below shows the ages of the teachers at

a school. metatutor
Key: 2 |3 = 23
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(a) How many teachers work at the school?

27

(b) What is the range of the ages of the teachers at the school?

65—273 = L2
(c) How many teachers are less than 35 years old?

g
33

(d) What is the mode?

Z.
The stem and leaf diagram below shows the weights of 13 dogs.

Key: 1 | 6 = 16 kilograms
1|89
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4 | 28
(a) What is the mode?
(b) What is the range of the weights?
4 — 16 = 2R

(c) What is the median weight?

(d) How many dogs weigh more than 35 kilograms?

Ly



3.
The stem and leaf diagram below shows the number of goals scored by 20 football teams
last season.

Key 3 | 53 = 35 goals
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(a) What percentage of the teams scored more than 65 goals?

°Ho *\O0= 257/,

(b) What fraction of the teams scored between 40 and 50 goals? Give your answer in its
simplest form. & 2

20 7 10

(c) What is the median number of goals scored?

SLe
Sty

(d) What is the mode?

4.
The stem and leaf diagram below shows the number of sweets in 15 packets.

Key: 2 | 8 = 28 sweets
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(a) If a packet is picked at random, what is the probability that it contains more than 38
sweets? Lg

s

(b) What is the median number of sweets in a packet?

3l

(c) What is the average number of sweets in a packet?
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5.
Below are the number of calls taken by a team in a call centre yesterday.

18 27 33 45 40 29 25 29 36 35 40 89

In the space below, construct a stem and leaf diagram to represent the data.
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6.
Below are the heights of 20 flowers, in centimetres.

25 30 9. }& 35 33 3% 3% 99 M6
20 32 38 33 34 33 28 @9 32 133

In the space below, construct a stem and leaf diagram to represent the data.
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T
Below are the percentages that 30 students achieved in a maths test.
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7w 51 52 61 50 56 56 45 3§ 59
67 66 53 55 YL 359 54 %4 57 bl

In the space below, construct a stem and leaf diagram to represent the data.

c 6 6% 9419

- F o

>
{

S ¥
2 3 S
O | i
=

Co N OV F W

>
I
l
O
o
|

KQ,S‘,
3ls =35

8.
Below are the temperatures recorded at 12pm in Bristol in June.
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273 8Q a2 B 22 2% X% %
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In the space below, construct a stem and leaf diagram to represent the data.
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9.
The stem and leaf diagram below shows the heights, in centimetres, of 20 male students.

Key: 14 | 8 = 148 centimetres
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18| 138

(a) Mikey is 165 centimetres tall. What percentage of the male students is taller than
Mikey? o
)
£ xio0z SO

Below are the heights of 18 female students.
136 MO 156 150 M4 W7 19 12 M
s Mg 45 ™9 155 158 de Tsq 185

(b) In the space below, construct a stem and leaf diagram for the female students.
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(c) Compare the range of heights of the female students to the male students.

Male = 138 =148 = L0 e male shuldents have

Femle= 169 —126= 33am - AWigher mage ronthe
femoale &tudents.

(d) Compare the median height of the female students to the male students.
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10.
The stem and leaf diagram below shows the weights, in ounces, of some clementines.

Key: 1 | 8 = 1.8 ounces
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Below are the weights, in ounces, of some tangerines. _
25 3. 35 M 39 27 43 29 29 35 M
5M. 5% 6.0 56 &5 46 7 A5 45 39 52

(a) In the space below, construct a stem and leaf diagram for the tangerines.
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(b) Compare the median weight of the clementines to the tangerines.

lemenbaes= 2 .0 ocunas The W-%W% oot ag
IR modaony weigut Taan e

Tm%m\'ﬂezs T L4 \S dungg IV T
(c) Compare the range of the weights of the clementines to the tangerines.
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11.
The stem and leaf diagram shows the scores achieved by 21 players in the first round of
a golf tournament.

Key: 6 | 2 = 62

22223556809

D s B l
U@
< A

000 =1 Oy

(a) The par score for the course is 73. How many of the players scored below par?

|

(b) What was the median score?

k)

(c) What was the range of scores?

N—-62L< 249

(d) An extra player is added to the tournament. He scores 69 in his first round. Does this
change the median or the range that were calculated in parts (b) and (c)?

The (onge d06S NOF Aonar -
Thoe modaon does aok c.\‘icwa&.

12.
The stem and leaf diagram below shows the number of visitors to a launderette in the
first 14 days since opening.

Key: 12 | 2 =122 visitors
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(a) The owners of the launderette set a goal for over 2,000 visitors in the first 14 days.
Did they achieve their goal?
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(b) What was the range of the number of visitors?

S —1222= 1\

(c) What was the median number of visitors?

LS visitors



(d) On the 15 day, there were 120 visitors to the launderette. Does this change the
median or the range that were calculated in parts (b) and (¢)?

The ranor williau Rair o 39,
The modion Wil decea e o uyy.

13.
Below are the throws, in metres, of 22 javelin throwers at an athletics meet.

72:4 Th8 72:0 7L4 735 75.0 74.1 77.7 76.8 75.5 75.6
'7&9 745 76.2 72.2 73.8 744 73.9 729 76.8 75.7 4.4

(a) In the space below, construct a stem and leaf diagram for the throws.
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(b} Find the range of the throw lengths.
07 7-7.4= 6. 3wm

(c) Find the median throw length.

T M

(d) The throw of 77.7 metres was later disqualified because the thrower overstepped.
Does this change the median or the range that were calculated in parts (b) and (c)?
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